
SAP ABAP table VIBDRO {Rental Object}

VIBDRO

MANDT [CLNT (3)]

INTRENO [CHAR (13)]

BUKRS [CHAR (4)]

OBJNR [CHAR (22)]

RESPONSIBLE [CHAR (12)]

USEREXCLUSIVE [CHAR (12)]

SNUNR [NUMC (4)]

SGRNR [CHAR (8)]

SGENR [CHAR (8)]

SGEBT [CHAR (2)]

RLRAFIXFITCATE [CHAR (6)]

RLRALOC [CHAR (6)]

RPROZGRD [CHAR (2)]

RLGESCH [CHAR (2)]

SSTOCKW [NUMC (3)]

SSTCKBIS [NUMC (3)]

RLRA [CHAR (6)]

CURRENCY [CUKY (5)]

NEIGHBORH1 [CHAR (30)]

NEIGHBORH2 [CHAR (30)]

NEIGHBORH3 [CHAR (30)]

VPTCURRENCY [CUKY (5)]

CONDK [CHAR (4)]

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 VIBDRO-BUKRS = T001-BUKRS 

0..N

1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 VIBDRO-CURRENCY = TCURC-WAERS 

0..N

1

 VIBDRO-VPTCURRENCY = TCURC-WAERS 0..N

0..N

TIV01

MANDT [CLNT (3)]

SNUNR [NUMC (4)]

 VIBDRO-SNUNR = TIV01-SNUNR 

0..N

0..N

TIV12

MANDT [CLNT (3)]

SGEBT [CHAR (2)]

 VIBDRO-SGEBT = TIV12-SGEBT 

0..N

{0,1} TIV37

MANDT [CLNT (3)]

SSTOCKW [NUMC (3)]

 VIBDRO-SSTCKBIS = TIV37-SSTOCKW 

0..N

{0,1}

 VIBDRO-SSTOCKW = TIV37-SSTOCKW 0..N

{0,1}

TIV38

MANDT [CLNT (3)]

RLGESCH [CHAR (2)]
 VIBDRO-RLGESCH = TIV38-RLGESCH 0..N

{0,1}

TIV43

MANDT [CLNT (3)]

RPROZGRD [CHAR (2)]

 VIBDRO-RPROZGRD = TIV43-RPROZGRD 
0..N

1

TIVAJRLRA

MANDT [CLNT (3)]

RLRA [CHAR (6)]

 VIBDRO-RLRA = TIVAJRLRA-RLRA 

0..N

1

TIVAJRLRAFFCT

MANDT [CLNT (3)]

RLRA [CHAR (6)]

RLRAFIXFITCATE [CHAR (6)]

 VIBDRO-RLRAFIXFITCATE = TIVAJRLRAFFCT-RLRAFIXFITCATE 

0..N

{0,1}

TIVAJRLRALOC

MANDT [CLNT (3)]

RLRA [CHAR (6)]

RLRALOC [CHAR (6)]

 VIBDRO-RLRALOC = TIVAJRLRALOC-RLRALOC 

0..N

{0,1}

TIVBDNEIGHBORH

MANDT [CLNT (3)]

NEIGHBORHOOD [CHAR (30)]

 VIBDRO-NEIGHBORH1 = TIVBDNEIGHBORH-NEIGHBORHOOD 

0..N

0..N

 VIBDRO-NEIGHBORH2 = TIVBDNEIGHBORH-NEIGHBORHOOD 

0..N

0..N

 VIBDRO-NEIGHBORH3 = TIVBDNEIGHBORH-NEIGHBORHOOD 

0..N

0..N

TIVXCPTRACONS

MANDT [CLNT (3)]

CONSLEVEL [CHAR (4)]

 VIBDRO-CONDK = TIVXCPTRACONS-CONSLEVEL 

0..N

0..N

USR02

MANDT [CLNT (3)]

BNAME [CHAR (12)]

 VIBDRO-RESPONSIBLE = USR02-BNAME 

0..N

1

 VIBDRO-USEREXCLUSIVE = USR02-BNAME 

0..N

{0,1}


